Example

An air compressor with isentropic efficiency of 60% compresses
air with the conditions below. What is the exit temperature?

ﬁ\s/ssm_? c40nsrc1nt c,=1.005 kJ/kgK and c,=0.718 kl/kgK, k= [r = 008 }“7//3 e
¢, = 0.71% “J/[.“.)(
Co= ¢ s .4
Shaft work in k ,/LV ’
| Wy =2
Air :
Compressor
I
" 5,=600 kPa
Examples 1
(k-1) i

()

500 LifaT) ' 4
300 [] = 500.55 [k]

D
—
n

Ijenh:r«'Li {’_’

fval
4
]

300 [Lr]
" hy -he 641(7;5 -T)
Me = 57 % Toihm T %(Ta-T)
Ts =T
m [ PR E— —
T;.q _T(
(T~ T)
T = Tt o 177
20 [k] [5®-55 300 [x])
= + ——

0.6

= | g3t2s [K]




